(7)ALP

BERE(B) -2 M4 BB FE (%) e -
S0 MG =M (L —te=F3 e F 4
> — 180
170 170
— 160
150 150
‘ 140 N
130 ! 130 “
RENET REE REHT RkEi%
b 16 ) . ®ig (&)
o ] M2 M3 Q7L o [ { e O e F3
310 dr 230 G —
260 210
210 190 .
160 : 170 b=
RENET RENZ IRENAT RENE
3 SEN |
BB g moms Mo PR(E) gy ciers FE
S0 (L :
270 180 =
250
230 170 o— r)
210 160 ~
190
170 *- ‘ n 2 150
IRENET RENE REEI RENE
M Fl =&=F2
Sy M2 Sy |
180
160
150 140
120
100 100 |
T RBET EWg

- 219 -




8)7I7—E

BRE(B) =Mz =E—M4
s ==M5  =3=M86
10 .
£ e
90
20 - =
50 ¢
30 R
IRBIAT e
i’f)(%) V] M2 M3
300 : =
200
100 . o
0
| IRENAT RER
@;/f)(%) =f==M4 =E=M5 -~ M6
90
80
70 = =
60 < e
50
PREAT k8%
=@(R) =M
(L) | =EeM2
‘..~‘
90 —
80
70
60
wBIAT RBIR

- 220 -

Eﬁ(#) e [ | s [0
(u/L) V s 3 s £ 4
90 \;i o
70 E— —a
50 L Gee— ]
R ENH REh#R
U/ =R
80 - gl
70
60 o =
50
BN RENE
R (%) wnllon 5 <n
§1U/L) g F st FH wiees FR
0
65 =
60 & &
55 | ‘
50
IR ENHT kB2
=H(x) i
é%J/L) s [ el F)
s
70
60 -
50
IRENEI kBN 1%




(9L

BRE(ER) | =M BRE(Z) — ——F
(mg/dL) == M5 0 émg/ dL) by 3
10 ¥ 0.
& o.s
08 N . 0.6
- - 05
06 ¢ 7 0.4 & &
0.4 0.3
e D] RENE IRENRI keI
R (5) ;_‘-N” s =l P Rl (%) 2—0—F1 =2 enfp=F3
0 .;mg/ dL) (mg/dL)
' 0.9 & A
06 o o 07
0.5 [ ] 0.5
0.4 0.3
IRENET IRENR IRENHT IREN R
EW(RB) i . ER(X) .
o/ L) = M4 == M5 M6 (/L) F6
r % 1.2 ;
1.0 | o = =1
0.8 0.8
g 0.6 g |
0.6 0.4
RBIET RE% IREDAT REN%
=H(8) =M1 =H(X) i
“(mg/dL) e M2 (mg/dL) =R R
' 13 | -
1.0 B 1.1 —
09 ® o 09
0.7 - -
0.8 0.5 : ;
PRENRI REIR IREDAT k&R

-221 -




(10) TSH

BRE(B) ——M2  =E=M4
—=M5  =3H=M6
3.2 ¢ R
2.2
1.2
RENAT IS
RBR) e M2 M3
5.5
45
35
2.5
15
05 = \ =
IREDRI IRENR
RSB g o5 s
25
15 - -
05
TREDA REN%
=H(5) =M1
== M2
16
14
1.2
1.0
08
#RBIAT RENik

- 222 -

%ﬁ (#) el [ s 9
weie=F3 =iees 4

40 f -

30

20 ® = ¢

IRENEI RENiR

i;ﬁ(#) ol [ | ol [ e 3

4-0 ‘ i

3.0

2.0

1.0

0.0

#RENAT RENE

SRR (%) _,_F4 -

22
1.7
12 ¢ ®
PR ENH ke
=H (%)
24 yS—
22 —*
20
18
1.6 :
RENET RE%R




(11)Free T,

BEER) e \12 === \14 BrE (%) e [ ] il 9
= M5 === M6 e F4
1.7 13
1.6
15 1.2
1.4 11
1.3
1.2 1.0
 IREDAN Rk
RiE (&)
1.4 1.10
1.3
1.2 1.05
i 1.00
1.0 n— .
0.9 .
0.8 0.95
IRENRT RENk RENAT RENk
1.6 : 1.4 ?
}"3‘ 1.2
' 1.1
12
1.1 &= = 1.0
1.0 0.9 ¢ 14
IRENAT RENk IRENET wE%
=H((x)
1.3 \ =9
1.1
0.9
IRENAT RER HRENAT L

- 223 -




(12)APTT

27
25
23
21

IRBE B
ii(?(%) s |\ ] elfilom \12 e M3
34
33 |
32
31
30

IREA IRB %
ER(R) 4 M5 M6
e
28

-

27 e

IREYAT RB%
=H (%) i
(sec) 2
33 =
31

o

29 G

IREIAT REi%

- 224 -

IRENAT REHER
'(ﬁiﬁ(#) | [ o3
sec)
34 L
—
32
30 A
——
28
IREDAN IRBHR
gszec) f
31 5
G i 4
30
RENAT RENR
=H (%K) —o=F1 =E=F2
gs6ec)
35
34
33
32 ————
31
RENAT RENR




(13)PT(INR)

BE(R) s |\ 2 == M4 BE (%) e [ | el [
s M5 == M6 s F3 = F 4
1.02 P 1.02 el
1.00 B
0.98 —b 0.97 7K
f 4

0.94 ey
0.92 0.92 ¢

IREDAT ke IREDRI RENE
R (5) e\ w2 == M3 (%) o [ i ) w3
0.97
0.95 [ " 0.95
0.93
0.91 0.93
0.89
0.87 0.91

D] RENR
N \ by \
B (5) e M4 == M5 = M6 B (%) aun [ i F5 o FG
1.10 o 1.01 |
105 099 |
= ) 0.97 G

1.00 0.95 P, g
0.95 0.93

IR EHAT RENTR RENET RENR
:Eﬂ(%) :E(#) e IS ]
1.12 1.19
1.10 117
1.08 1.15
1.06 1.13

L] kB2

- 225 -




(14) 747V /=

BRER) s \]2 wsfBes M4 B (&) === { s 9
190 250 N el
) = —a
140 — = 200 B
IRENAT RNk IRENAT Rk
(R _—trr HifE (%)
(mg/dL) M1 M2 == M3 (mg/dL)
320 & e S 280
P 260
270 —
240
220 . . 220 ——
| IRBNAT - RE) IREHRT RE%
SEHN f GE
FRB) g —moms M6 (’E*//‘QL()ﬁ) ~F6
(mg/dL) 2“&%
250 270
230 =
210 . 260 /
190 250 1 =
170 ham = 240
RENET REnik RENRT REhk
=H(5) =Mt ZH((X) | B2
(mg/dL) e M2 (mg/dL)
370 p ~—
380 —
360 320
340 270
320 220
IRENAT REhk IRENET L

- 226 -



4. SEEDDAHT ECORFE SIEE (BR)
(1)Na

BRER) ——M1 —E=M2 BEE (&) ——F1 82
(mEo/L) =g M3 e M4 (mEg/L) .
145 143
144 142
143 141
140
142 139
141 138
0 24h 48h 72h
HiE(8) R (x)
(mEo/L) (mE/L)
144
143 143
142 141
14
1 139
140
139 : 137
0 24h 48h 72h 0 24h 48h 72h
F-7NC-) N WAV ¢ S O
(mEo/L) (mEo/L) :
142 141
ﬁ//ﬁ{ %%WI&%%WWM v
at g 2 MW”% 140 Mw’/ e
139 : 138 4
138 : ’ 137
0 24h 48h 12h 0 24h 48h 72h
=ZH(8) —=M1 =H (%) —o—F1 —
(mEq/L) e M2 (mEa/L) Fi —&—F2
144 143
[ e 142
142 ‘ —~ $
140 % 140
0 24h 48h 72h ﬁ 0 24h 48h 72h

- 227 -




(2)K

BE(R) M Ew g (4) ——F P2
(mEo/L) == M3 —=e=M4 | 4nr7\Eq/ L A F3 i F4
48 45 A
4.6 e
43
4.4 4'1
42 39
40 37
0 24h 48h 72h 0 24h 48h 72h
RB(B) M1 M2 M3 i (%) ——F1 5 F2 ——F3
(mEo/L) (mEo/L)
45 45 ‘ . e "
4.4 & = ¢ o 43
43 41
42 = B! n ' i
4.1 P 39 = _ .
40 &Mﬁﬂ 3.7 /v v L A
3.9 : 35 : ;
0 24h 48h 72h 0 24h 48h 72h
: s -
HR(F) —6—M7 ~E~-M8 - M9 A (%) ~4—F7 =8—-F8 —F9
érgEo/ L (mEy/L)
’ , : ; 40 o
46 — ¢
38
44 & s s
36
42 . g : , .
40 : 34 : : ‘
0 24h 48h 72h 0 24h 48h 72h
=H (5H) el = [ (%) [u——
(mEa/D)  mem2 (mEq/L) (Rl —R-F2
40 4.1
38 . B
34 : ; ﬁ 3.7
0 24h 48h 72h 0 24n 48h 72h
- 228 -




(3)ci

Egmg(j[) s [ 1 w2
5 bnsEq/ L s 3 = 4
104

103

102

101

100

B 0 24n  48h  72h
R (X) ——F1 —=—F2 —A—F3
(mEO/L)

106

105 & o =

104 0~\\\\\’
103 4 L 4
102 N

101 :

102 :
0 24h 48h 12h

BES) ——=M1  —E=-M2
(mE¢/L) =z M3 it M4
108
106
Mo
104 =y
102
0 24h 48h 72h
RiE(H) —o— M1 —B—M2 —A—-M3 |
(mEo/L)
107
106
105
104
103
102
0 24h 48h 72h
R (B) e s
(mEg/L)
104
103 g%;;“‘~o.~.._~_‘,,,,,_,o
%%%WWMWWW/W |
102
0 24h 48h 72h
55&5{;%) w%%mm;
104 '
103 <¢——”"‘~“‘-,______.
102
101 :
100
99 g
98
0 24h 48h 72h

- 229 -

=H(
(mEa/L)
107

——F1 —&—F2

—

g

106

105

104
0 24h 48h 72h




(4)Ca

BRE(E) e M 1 e N} 2 Fﬁ(ﬁ) e and o i [2
1(8’1%/dL) == M3 =il M4 mg/dL) == [ 3 Sl F 4
9.8 10.2
9.6 100
9.4 9.3
9.2 9.6
9.0 9.4
0 24h 48h 72h 0 24h 48h 72h
R () —0—M1{ —B=M2 ——M3 il (%) ——F1 ~B—F2 —=F3
(mg/dL) (mg/dL)
9.7 9.4
9.5 ._..\'___.. 9.2 ‘\\l/‘\:
9.3
9.0
9.1 %%%
%
8.9 8.8
0 24h 48h 72h 0 24h 48h 72h
(mg/dL) émg/dL)
9.7 3
95 9.1
9.3 89
9.1 8.7
8.9 85
8.7 8.3
0 24h 48h 72h 0 24h 48h 72h
=H(5) =M1 =H(%X)
{mg/dL) 7 (mg/dL)
10.1 9.9
99 9.7
95
9.7 9.3
95 9.1

24h 48h 72h

- 230 -



(B) fExgy

BRE(5) ——=M1 —E-M2 %ﬁ(ﬁ) —=F1  —E—F2
(mg/dL) mg/dL) e F 3 e F 4
47
40
42
3.7 " % 35
ESS———
3.2 30 E
0 24h 48h 72h 0 24h 48h 72h
B (B) eyl M2 M3 B (%) o 5 F2 =k 3
(mg/dL) ! M1 M2 ——M3 (mg/dL)
3'5 4.2 k/A ‘\
33 & o : 40
3.1 38
. S = 4 36
2.
- B = = 34
2.7 : 3.2
0 24h 48h 72h 0 24h 48h 72h
s SR _
/ﬁ*’-&(%) ol M7 BB M8 e MO lﬁ*’h(ﬁ) ol [] o FQ oo FQ
‘(1 n(;g/ dL) érgg/ dL)
. . ‘WW%Q’%W%W%MM
38 36 »W%‘m%m%% o g &
33 34
2.8 3.2 £ =
. 4 4 %
2.3 30
0 24h 48h 72h 0 24h 48h 72h
=H (%) —-M = E(&) o F1
37 = e
3.6
35 35
3'4 3-3
33 $ 4 4 =S =
32 31
0 24h 48h 72h 0 24h 48h 72h

- 231 -




(6)LDH

e M { wxfffte 2
(/L) == M3 == M4
230 s
210
1 90 }gf%m"‘@%'rm i ' i
170 : —:: __‘
150 : :

0 24h 48h 72h

HiHE(R)

(/L)

oo M1 el M2 =t M3

220
210
200
190
180

A,

/«;%yz@w/ﬁmmm/%@%

ot
5
£

170

0 24h 48h 72h

R (B)

!

e M7 M8 - M9

(Iu/L)
180
160
140
120
0 24h 48h 72h

(B) —— M1

== M2

200
190 0
180 \
170 B
160 ——
150 ‘

0 24h 48h 72h

- 232 -

& (%)

(u/L)

)

——F1
F

185
175

165 @%% / -
155 .
0 24h 48h 72h

4 (%&) e

/L) ::—O—F1 S0 [ 2 cmeigem F 3

230 :

210

190

170

150

130

0 24h 48h 72h

(&)

(1u/L)

~—F7 —=—F8 = F9

200

180

160

A

w~§®»””@mw /ﬁw%@f%k%
i |

140

0 24h  48h  72h

1200

=M (%

(u/L)

—=F1 =~ F2

190

180
170
160
1580

140

0 24h 48h 72h




(7)ALP

BE(E) —— M1 = M2
(IU/L) M3 =3=M4

260

210 g ' '

N FS—— B 4
160 s it

0 24h 48h 72h
=B (5B) —o— M1 —B=M2 —i— M3
(u/L)

350

300 B —
250

200 N ) N
150 — —— e
100 '

0 24h 48h  12h
F(B) ey —mMs
au/0) | M7 M8 M9
450 ‘

400
350
300
250
200 N > N —
150 t
0 24h 48h 72h

- 233 -

BEIE (%) ——F1  —@=F2
(/L == F3 ~k=~F4
190
170
150
130

0 24h 48h 72h
B (%) .
aurt) —0—F1 i [ i 3
200 ‘\/'\‘
180 | g
160
140 . e ‘i\
120 - .

0 24h 48h 72h
R () | mrn
au/0) :-+-F7 F8 =+ F9
240 & =4 S

%ﬂm@“m’”’%ﬁ%m@mw §§§ T
200
180

0 24h 48h 72h




(8) 73I7—¥

B (58) ——M1 —E-M2 BHE (&) ——F1  —B=F2
&)U/ L == M3 === M4 1(!1%/ ] - F3 s F4
e e v, 90 o
70 ~ i H =
60 & T e " 80
70
40 : 50
0 24h 48h 72h 0 24h 48h 72h
B (5H) - R (&)
Qoo ot \|] = M2 —de M3 )
100 ﬁ 110
. 5 ﬁwﬁwwﬂ,ﬁfm{%
90 - = 100
- 80 e - e
70 90
60 80
50 ¢ L
40 70
0 24h 48h 72h 0 24h 48h 72h
s ‘ SR
fﬁi’f\)(%) == M7 ~5=M8 M9 g%%(#) —¢—F7 ~E—F8 — F9
éO : 90
75 %%ﬁ@mﬁ . e ] . i
" - 85 : —
70 & & oy —
65 80
60 75
55 Y A & 4
50 : : 70
0 24h 48h 72h 12h
=@ (8) —o= M1 =M (%) | —omF| =
(/L) o M2 %)U/L) ; F1 =&—F2
65 - %%%%% /% %“W-mmm il e
i 60
60 s D 2
/ - ” %0 ‘\‘
55 ' 40
0 24h 48h T2h 0] 24h 48h 72h

- 234 -



Q) BEYNLE Y

BE(R) =M1 —=—M2
(mg/dL) == M3 == M4
1.0 .
0.8
06 | :
@ $ = >
0.4
0 24h  48h 72h
igﬁg(/;?}v_)) M2 ——M1 —A—M3
0.7
06 [ A o,
05 & & S
04
0 24h 48h 72h
B (5) —o—M7 —5—M8 - M9
(mg/dL) - ”
10 b B
08 |
— s N
06 R S y
04
0 24h 48h 72h
=ZH(H) | ""%W m‘
L  =E-M2
07 (mg/dL) |
0.6 & $ $ =
05
0.4 B -
“""'F«% " &
03 8 =
0.2
0 24h 48h 72h

BBIE (%) ——F1 ~B-F2
‘0 (mg/dL) i F3 ¥ F4
08
06
04
| 0 24h 48h 72h
®ilE (%) =1 =i F2 =fe=F3
(mg/dL) ,
09
. * * *
0.7
05 o L i
A 2 A &
03
0 24h 48h 72h
i (%) =[] ~5—F§ i F9
11 (mg/dL)
. o .
09 ¢
07 B S
05
03
0 24h 48h 72h
=M (%) ——F1 ~8—F2
(mg/dL)
0.7
06 B g S—
05 %M & o
04
0 24h 48h 72h




(10)TSH

§
BE(5) L Mt —Be-M2
a5 L =A=M3 =E-M4
: = &
30 | B
2.5
20
1.5 * ¢
10
05 &= ¢ 0
0 24h 48h 72h
Rl (5) —— M1 ~l—M2 ~A—M3
3.0
—n ™
2.5 M’—' e
20
15
10 — o —
05 :
0 24h 48h 72h
5&*’4& (% ) e (T i M8 e MO
3.0
25
20 : &
15
1.0 & s A e
05 :
0 24h 48h 72h
=H(85)
1.3

1.0

12 /o
1.1

0.9

- 236 -

B (%) ——F1 —E—F2
50 e F3 ~H—F4
40 ) D K
30 5 4 A

20 p—— t‘ |

10

0  24n  48h  72h
(%) ——F1 —5—F2 ——F3
25

2‘0 ‘ A

e
15
1.0 —

05

0 24h  48h  72h
(%) ——F7 ~E—F8 ' F9
20
18
16 [

S
1.4 — :

0 24h 480 72h
=H (%) ——F1 —B-F2
25
15
10

0 24h 48h 72h




(11)Free T,

BRE(E) M —Eew
| —A-M3 M4
16
15
14
13
12
1.1 ke s
10
0 24h  48h  7%h
RE(B) M1 M2 —=-M3
14 '
13 . 5 o
12 4 -
10 > e =
0.9 &
08
0 24h  48h  72h
E(5) —o— M7 ~E—M8 - M9
15
14
13
12 - ¢ — ¢
1.1 —
0 24h  48h  T2h
=H(EH) ==Mi
i M2
16 _ — -
g ¢ —
14
12
10
0 24h  48h  72h

- 237 -

BE (%) ==F1 —&—F2
e F3 = F4

1.3
1.2 e
1.1 B B —r n
10
0.9

0 24h 48h 72h
i (X) ——F1 ~E—F2 —&—F3
10
0.9
08

0 24h 48h 72h
() —$—F7 —E—F8 F9
13

e —
1.2 Te—g S
1.1
10

0 24h 48h 72h
=H (%) ——F1 —8—F2
15
13
12
1 '1 my%mw
1.0 g
09

0 24h 48h 72h



(12) APTT

EC (%)

29

gl

X

24 . \%V\é@ M%MWAW%M%%MM”W
—~
19 :

0 24h 48h 72h 0 24h 48h 72h
&Zﬁ(%) ——M1 —B—M2 ——M3 Egiﬁ(?c) ——F{ ~—F2 =fe=F3
41 1 42
39 40
37 38
35 36
33 34
31 32 |
29 30

0 24h 48h 72h 0 24h 48h 72h
(sec) (sec)

34 36
32 34
30 2
28
24 28
0 24h 48h 72h
=H(EB) =M1 =H (%) o F{ B2
(sec) - (sec) ,
4 :

» 42

40
36 38

36
31 34

0 24h 48h 72h

- 238 -

0 24h 48h 72h




